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QUESTION 1

An application is being implemented that required a connection to an MQ queue manager. Where can the queue
manager be located relative to the application to achieve this? 

A. It can be either local or remote. 

B. It must be local to the application. 

C. It must be remote from the application. 

D. It can be either local or remote, but must use a requester channel for connection. 

Correct Answer: A 

 

QUESTION 2

DEFINE QLOCAL(TENNIS) 

DEFINE QLOCAL(RUGBY) 

DEFINE QALIAS(BALLS) TARGET(BALL) 

DEFINE QLOCAL(QMGB) USAGE(XMITQ) 

DEFINE QREMOTE(BALL) RNAME(BALL) RQMNAME(QMGB) 

The following commands are issued on QMGB: 

DEFINE QLOCAL(RUGBY) 

DEFINE QALIAS(BALLS) TARGET(TENNIS) 

DEFINE QLOCAL(QMGC) USAGE(XMITQ) 

DEFINE QLOCAL(TENNIS) 

DEFINE QREMOTE(BALL) RNAME(BALL) RQMNAME(QMGC) 

The following commands are issued on QMGC: 

DEFINE QREMOTE(BALLS) RNAME(BALLS) RQMNAME(QMGB) 

DEFINE QLOCAL(QMGB) USAGE(XMITQ) 

DEFINE QALIAS(BALL) TARGET(RUGBY) 

DEFINE QLOCAL(TENNIS) 

DEFINE QLOCAL(RUGBY) 

Where does the message go when it is put to BALLS on QMGC? 
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A. TENNIS on QMGC 

B. TENNIS on QMGB 

C. TENNIS on QMGA 

D. TENNIS on QMGC 

Correct Answer: B 

 

 

QUESTION 3

All of a company\\'s IBM MQ installation (z/OS) are LTS (Long Term Support) releases. What must the OPMODE be set
to after a migration is complete, in order to allow a backwards migration? 

A. COMPAT 

B. OLDFUNC 

C. NEWFUNC 

D. ROLLBACK 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_9.0.0/com.ibm.mq.mig.doc/ q006290_.htm 

 

QUESTION 4

The behavior of the automatic client reconnection functionally provided by the IBM MQ classes for JMS depends on the
properties being set for client reconnection. What is one of the properties that needs to be set? 

A. CCT 

B. TTP 

C. TRAN 

D. MULTI 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_8.0.0/com.ibm.mq.dev.doc/ q119450_.htm 

 

QUESTION 5

What performance events are generated, which queue holds the performance event messages? 

A. SYSTEM.PERFM.EVENT 
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B. SYSTEM.ADMIN.EVENT 

C. SYSTEM.ADMIN.PERFM.EVENT 

D. SYSTEM.ADMIN.PERFORMANCE.EVENT 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_9.0.0/com.ibm.mq.mon.doc/ q036200_.htm 

 

QUESTION 6

When using the rcrmqobj command to re-create an object from its image in the log, which condition must be satisfied? 

A. Linear logging is used 

B. Circular logging is used 

C. The queue manager is stopped 

D. The object is marked as damaged 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_7.5.0/com.ibm.mq.ref.adm.doc/ q083370_.htm 

 

QUESTION 7

Queue manager QM1 has a remote queue RMT1 which is a remote definitions of the local queue L1 on 

queue manager QM2. 

How would an administrator define the transmission queue so that messages on RMT1 on QM1 are sent 

to L1 on QM2? 

A. DEFINE QLOCAL(`QM2\\') USAGE(XMITQ) 

B. DEFINE QLOCAL(`RMT1\\') USAGE(XMITQ) 

C. DEFINE QREMOTE(`L1\\') USAGE(XMITQ) 

D. DEFINE QUALIAS(`QM2\\') USAGE(XMITQ) 

Correct Answer: C 

 

QUESTION 8

Which command will enable real-time monitoring of queues, where the monitoring is to be controlled at a queue
manager level? 
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A. ALTER QMGR MONQ(NONE) 

B. ALTER QMGR MONQ(HIGH) 

C. ALTER QMGR INHIBTEV(ENABLED) 

D. ALTER QMGR STATQ(ON) STATINT(30) 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_7.5.0/com.ibm.mq.mon.doc/ q037990_.htm 

 

QUESTION 9

The MQ administrator must meet a regulatory compliance requirement to preserve confidentiality of data in messages at
rest, in traces, and in FFST files. Which MQ security control meets this requirement? 

A. Advanced Message Security with a non-blank ENCALG specified in the policy records. 

B. A non-blank value in the channel\\'s SSLCIPH attribute. 

C. Set PasswordProtection to ALWAYS in the qm.ini file. 

D. Use an API or API Crossing exit that encrypts the messages. 

Correct Answer: B 

 

QUESTION 10

After completing an IBM MQ for z/OS installation and customization, how can a successful installation be verified? 

A. Review the z/OS MQ SMF records. 

B. Run the command runmqsc -installation_verify. 

C. Put a test message on a newly created z/OS queue. 

D. Use the MQ for z/OS installation verification programs (IVPs). 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_9.1.0/com.ibm.mq.ins.doc/q009680_.htm 

 

QUESTION 11

Which statement describes an MQl channel? 

A. A bidirectional communications link between two queue managers. 

B. A unidirectional communications link between two queue managers. 
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C. A bidirectional communications link that connects an application to a queue manager. 

D. A unidirectional communications link that connects an application to a queue manager. 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_8.0.0/com.ibm.mq.pro.doc/ q003220_.htm 

 

QUESTION 12

When an MQ queue manager is configured to produce events, what format are the event messages written in? 

A. TXT (Plain Text) 

B. XML (Extended Markup Language) 

C. CSV (Comma Separated Variable) 

D. PCF (Programmable Command Format) 

Correct Answer: D 

 

QUESTION 13

An existing application periodically announces price changes by putting messages to a queue. To make the price
messages available as publications without changing the application, the output queue has been deleted and replaced
with a queue alias that has TARGTYPE(TOPIC) TARGET(`PRICES\\'). Which authorization is required to allow the
application to publish using the new alias? 

A. Grant +put to the alias only 

B. Grant +pub to the alias and +pub to the PRICES topic object 

C. Grant +put to the alias and +pub to the PRICES topic object 

D. Grant +put to the alias and to each of the subscriber queues 

Correct Answer: B 

 

QUESTION 14

On AIX when migrating to MQv9, which command is required to make the latest version of the installation the primary
installation? 

A. setmqm 

B. setmwenv 

C. setmqaut 

D. setmqinst 
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Correct Answer: D 

 

QUESTION 15

QM1 is a multi-instance queue manager on server1 and server2. Currently, it is NOT running. What is the effect of
executing strmqm -x QM1 on server1? 

A. QM1 becomes an active instance on server2. 

B. QM1 becomes an active instance on server1. 

C. QM1 becomes an active instance on server1 and a standby instance on server2. 

D. QM1 becomes an active instance on server2 and a standby instance on server1. 

Correct Answer: C 
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